XK= 2n=1

»-{z‘ f: ﬂ ?‘/‘M o’ L_al+/2 =7 Ozg-#/yd{-ﬁ-‘z_/ ff“"'",

MI_L =
K b L= [T = /0

G =K “’V"

S SRR ISP o

K _.f;.:;-a., e—

.qm

H mo— &_-Pﬂ)

o %ww%wh/w%

/3 . /6. f.:? 22

Ry e

.--/),"%' %, /4 f,li 3b s 55
A e A /9 34 H? 04

o 974*;-1“-
8, LioSrata

bu--ffl q

d
QM’




ke

j_hmi @w—Q.L+ 1mo— Y 4..-:-'/1/;«.-.-.-/ el bRt s

e 2 gA
v n = | Wate X = / o—-—"!v 7
WW "7/1 =Ly A=13 wh 4

mzp = " X=U-(-* LN
Y s i /2 e
ﬂmmw /u{ J—.:.f/fia s

@m—an}-ﬂ) X M—-Lﬁm"'-l"f-:- [

)

gty 7 % =




O/ﬂﬂf?z 25 é}_-;m__ '
| Mu@f X2 ax4lbx—c

[b m— 4m* (34 tl)-&- ‘Z,mQ..,.g,) B
_________._-""’—-"_—"

/2 mr __zsh@_,.iv...ﬁu..pb)
g&,gz,- ' wrd K v W‘ffw'h’ 3

%;’_’/‘z;hbg% w’— 3"'1’-?/5'(—-3:0 f&w izt

ghfe. =/ ‘J_’f’“ 16 mP=pm' 348+ in(F)H=w
yuuy fﬂmt’_pm@-}-@-f&dﬁ):_;

M:&ﬁ%:-{-z.

Onivine
AT B3 e e 36. 43
be, -47,-1% 0 G top. 06 Jr By 21!
(_u/_,,,%-,»wf-;;, 74 :z;,_z-ié, 307, 395, 469, S8°
A= 67;.-;”,-353,—}64,‘5‘ 14 3uy, 81 681, B3

o000
ea...fq}q,-nés,"sqz,-ézé,-w;,-gq, 157, 484 729, 1

W . 3 Gl et




Y abos firn amd CofplM | iflind] o Sming

_1?- - /'L.ﬁh".—ém +;Ir- _ /6 &'3?('2&.1-11»;, e

A q&'./-./‘/;, / ,..J.,.,‘.Ju...., v X* "'“-,947’“3
KRy =~ =2 a/f.w'hﬁ,'
Qim"-—am 4K - [hm? 412" = 2m

_@'Mn‘ch ~+ 4 am® — 20m
a8 S : AR

oo KT ”‘ﬁ-@-'f' 4“;‘1""' +Q+“ 'HQ K "'/5”‘11"@1,{;4&) (b2t — =&

L:?’-l::-_/f»‘“?— Ath;Mj+¢m€+a7 +C T f'{ L
[1mt — Um(3p2e) -f-Q—Fﬂ‘Ff’)

Sy x4 andaebxt—cr+0 . 2
3rm= 124 +onbtrat L) +atbe)n —4¢
y mt (4424 +@+w{?+a+b) +7

w6 '"5@*4) -

WM ¢ ‘-‘;,/;6,6.7'/ .
(= Agmt—l6n C+a)F 4 m (4 +3a )
BT m7 — "’?-'?"-1(,1-»4-&‘) +1m (4 +qa+u)_-

— m(iea+b) =2
a4l 4C)




	[Seite 1]
	[Seite 2]
	[Seite 3]
	[Seite 4]

